Here we want to simplify the circuit between terminals a and b.
At first, there are no resistor pairs in series or parallel.

The 2 and 3 k-ohm resistors look like they’re in parallel, but do not share the same nodes, and thus cannot be combined.

Look at terminals a, b, and c.

This portion is delta connected, so we can change it to a wye subcircuit.

We need to find Ra, Rb, and Rc.

For Ra, the numerator is the product of the resistors in adjacent branches.

The denominator is the sum of the delta resistors.

Calculate Ra, Rb, and Rc in this manner.

Redraw the circuit, replacing the delta sub circuit with the wye.

We can easily simplfy the subcircuit.

The 1 and 5 k-ohm resistors are in series, as are the two 1.5 k-ohm resistors. 

Add each pair’s resistances to get equivalent resistances.

The 6 and 3 k-ohm resistors are in parallel, so add their reciprocals and take the reciprocal of the result.
The 1, 0.6, and 2 k-ohm resistors are in series, so add their resistances.

The 10 and 3.6 k-ohm resistors are in parallel, so find the equivalent resistance as before.

We now have an equivalent resistance for the network. 

